FORM OF RETURN OF ELECTION RESULT

DIOCESE OF CHESTER

ELECTION OF SIX MEMBERS OF THE HOUSE OF CLERGY TO REPRESENT THE DIOCESE IN GENERAL SYNOD

held on the thirteenth day of October 2021

I, the undersigned, being the presiding officer for the election of members of proctors in Convocation for the diocese,

CERTIFY THAT the person whose names are listed below has been duly elected in the diocese,

Stage at which elected	Surname	Surname Christian Names		Address - including postcode	e-mail address	Year of birt h
9	Askwith	Joshua Christian	Revd	75 CHESTER ROAD HAZEL GROVE STOCKPORT CHESHIRE SK7 5PE	jcaskwith@gmail.com	1990
1	BISHOP	lan Gregory ४	Ven	57A SANDBACH ROAD CONGLETON CHESHIRE CW12 4LH	ian.bishop@chester.anglican.org	1962
4	BLUNT	Christopher John Scawen	Revd	14 CELANDINE CLOSE HUNTINGTON CHESTER CH3 6DT	chrisblunt.jas@gmail.com	1973
7	JAQUISS	Gabrielle <u>Clair</u>	Revd	INGERSLEY BELGRAVE ROAD BOWDON ALTRINCHAM CHESHIRE WA14 2NZ	clairjq@aol.com	1956
9	KENNAUGH	Gary	Revd	277 MOTTRAM ROAD STALYBRIDGE CHESHIRE SK15 2RT	gary@hts.church	1980
1	MUNRO	Robert Speight	Revd Dr	1 DEPLEACH ROAD CHEADLE CHESHIRE SK8 1DZ	rob.munro@cheadle.org.uk	1963

Dated this thirteenth day of October 2021

Signed _____ (.till.

Presiding Officer

Papers Issued: 338 Papers returned: 242 Spoilt Papers: nil Percentage Poll: 71.6% Election of Proctors in Convocation Stage 1 Quota = 34.58

BISHOP, The Venerable Ian ELECTED With 47.00 over quota 34.58

MUNRO, Rev Dr Rob ELECTED

With 47.00 over quota 34.58

Stage 2

No candidates can be excluded, so we transfer the largest surplus Surplus of BISHOP, The Venerable Ian 3 papers non transferable. 44.00 transferred This is more than the surplus of 12.42 So ballot papers given a new value of 0.28 Transfer from BISHOP. The Venerable Ian: 44 at 0.28 = 12.32 Transfer to ASKWITH, The Revd Joshua: 7 at 0.28 = 1.96 Transfer to BLUNT, Revd Chris: 2 at 0.28 = 0.56 Transfer to DREW, Revd Simon: 2 at 0.28 = 0.56 Transfer to ENTICOTT. Revd Ian: 1 at 0.28 = 0.28 Transfer to JAMESON, The Reverend Beverley: 3 at 0.28 = 0.84 Transfer to JAQUISS, The Revd Clair: 11 at 0.28 = 3.08 Transfer to KEMBALL, Rev Sister Heather: 3 at 0.28 = 0.84 Transfer to KENNAUGH, Rev Gary: 2 at 0.28 = 0.56 Transfer to PROUDFOOT, Rev'd Jane Elizabeth: 10 at 0.28 = 2.80 Transfer to SELBY, Revd Professor Peter: 3 at 0.28 = 0.84

Stage 3

No candidates can be excluded, so we transfer the largest surplus Surplus of MUNRO, Rev Dr Rob 3 papers non transferable. 44.00 transferred This is more than the surplus of 12.42 So ballot papers given a new value of 0.28 Transfer from MUNRO, Rev Dr Rob: 44 at 0.28 = 12.32 Transfer to ASKWITH, The Revd Joshua: 1 at 0.28 = 0.28 Transfer to BLUNT, Revd Chris: 10 at 0.28 = 2.80 Transfer to DREW, Revd Simon: 11 at 0.28 = 3.08 Transfer to ENTICOTT, Revd Ian: 2 at 0.28 = 0.28 Transfer to KEMBALL, Rev Sister Heather: 1 at 0.28 = 0.28 Transfer to KENNAUGH, Rev Gary: 11 at 0.28 = 3.08 Transfer to SELBY, Revd Professor Peter: 8 at 0.28 = 2.24

Stage 4

Excluding KEMBALL, Rev Sister Heather

Transferring papers worth 1.00 Transfer from KEMBALL, Rev Sister Heather: 5 at 1.00 = 5.00 Transfer to BLUNT, Revd Chris: 2 at 1.00 = 2.00 Transfer to ENTICOTT, Revd Ian: 1 at 1.00 = 1.00 Transfer to JAQUISS, The Revd Clair: 1 at 1.00 = 1.00 Transfer to SELBY, Revd Professor Peter: 1 at 1.00 = 1.00

BLUNT, Revd Chris ELECTED

With 35.36 over quota 34.58

Transferring papers worth 0.28 Transfer from KEMBALL, Rev Sister Heather: 4 at 0.28 = 1.12 Transfer to ASKWITH, The Revd Joshua: 1 at 0.28 = 0.28 Transfer to ENTICOTT, Revd Ian: 1 at 0.28 = 0.28 Transfer to JAQUISS, The Revd Clair: 1 at 0.28 = 0.28 Transfer to SELBY, Revd Professor Peter: 1 at 0.28 = 0.28

Stage 5

Excluding JAMESON, The Reverend Beverley Transferring papers worth 1.00 Transfer from JAMESON, The Reverend Beverley: 8 at 1.00 = 8.00 Transfer to JAQUISS, The Revd Clair: 2 at 1.00 = 2.00 Transfer to PROUDFOOT, Rev'd Jane Elizabeth: 5 at 1.00 = 5.00 Transfer to Non-transferable: 1 at 1.00 = 1.00 Transferring papers worth 0.28 Transfer from JAMESON, The Reverend Beverley: 3 at 0.28 = 0.84 Transfer to ASKWITH, The Revd Joshua: 1 at 0.28 = 0.28 Transfer to KENNAUGH, Rev Gary: 1 at 0.28 = 0.28 Transfer to SELBY, Revd Professor Peter: 1 at 0.28 = 0.28

Stage 6

Excluding ENTICOTT, Revd Ian

Transferring papers worth 1.00 Transfer from ENTICOTT, Revd Ian: 9 at 1.00 = 9.00 Transfer to ASKWITH, The Revd Joshua: 3 at 1.00 = 3.00 Transfer to DREW, Revd Simon: 1 at 1.00 = 1.00 Transfer to JAQUISS, The Revd Clair: 1 at 1.00 = 1.00 Transfer to KENNAUGH, Rev Gary: 3 at 1.00 = 3.00 Transfer to PROUDFOOT, Rev'd Jane Elizabeth: 1 at 1.00 = 1.00 Transfer from ENTICOTT, Revd Ian: 4 at 0.28 = 1.12 Transfer to ASKWITH, The Revd Joshua: 1 at 0.28 = 0.28 Transfer to DREW, Revd Simon: 1 at 0.28 = 0.28 Transfer to KENNAUGH, Rev Gary: 1 at 0.28 = 0.28 Transfer to SELBY, Revd Professor Peter: 1 at 0.28 = 0.28

Stage 7

Excluding SELBY, Revd Professor Peter

Transferring papers worth 1.00 Transfer from SELBY, Revd Professor Peter: 9 at 1.00 = 9.00 Transfer to ASKWITH, The Revd Joshua: 2 at 1.00 = 2.00 Transfer to DREW, Revd Simon: 2 at 1.00 = 2.00 Transfer to JAQUISS, The Revd Clair: 2 at 1.00 = 2.00 Transfer to KENNAUGH, Rev Gary: 2 at 1.00 = 2.00 Transfer to PROUDFOOT, Rev'd Jane Elizabeth: 1 at 1.00 = 1.00

JAQUISS, The Revd Clair ELECTED

With 36.36 over quota 34.58

Transferring papers worth 0.28 Transfer from SELBY, Revd Professor Peter: 14 at 0.28 = 3.92 Transfer to ASKWITH, The Revd Joshua: 1 at 0.28 = 0.28 Transfer to DREW, Revd Simon: 5 at 0.28 = 1.40 Transfer to KENNAUGH, Rev Gary: 2 at 0.28 = 0.56 Transfer to PROUDFOOT, Rev'd Jane Elizabeth: 3 at 0.28 = 0.84

Stage 8

No candidates can be excluded, so we transfer the largest surplus Surplus of JAQUISS, The Revd Clair 1 papers non transferable. 1.00 transferred This is less than the surplus of 1.78 So ballot papers retain current value of 1.00 Transfer from JAQUISS, The Revd Clair: 1 at 1.00 = 1.00 Transfer to PROUDFOOT, Rev'd Jane Elizabeth: 1 at 1.00 = 1.00

Stage 9

Excluding DREW, Revd Simon

Transferring papers worth 1.00 Transfer from DREW, Revd Simon: 16 at 1.00 = 16.00 Transfer to ASKWITH, The Revd Joshua: 2 at 1.00 = 2.00 Transfer to KENNAUGH, Rev Gary: 11 at 1.00 = 11.00 Transfer to Non-transferable: 3 at 1.00 = 3.00 Transfer from DREW, Revd Simon: 19 at 0.28 = 5.32 Transfer to ASKWITH, The Revd Joshua: 1 at 0.28 = 0.28 Transfer to KENNAUGH, Rev Gary: 9 at 0.28 = 2.52 Transfer to Non-transferable: 9 at 0.28 = 2.52

KENNAUGH, Rev Gary ELECTED

With 36.28 over quota 34.58

ASKWITH, The Revd Joshua ELECTED With 33.64

Finished

Election for	Election of Proctors in Con	vocation												
Date	1	3/10/2021												
Number to be elected		6												
Valid votes		242												
Invalid votes		0												
Quota		34.58												
eSTV Reg. 54096	2.0.16													
Election rules	CofE													
			tage	2 S	tage	3 Stage	4 Stage		5 Stage		Stage	7 Stage	8 Stage	9
	First		urplus of		urplus of	Exclusion of	Exclusion of		Exclusion of		Exclusion of	Surplus of	Exclusi	
Candidates	Preferences		ISHOP, The Venerable Ian		/UNRO, Rev Dr Rob	KEMBALL, Rev Sister Heather		Reverend Beverley	ENTICOTT, Rev		SELBY, Revd Professor Peter	JAQUISS, The Revd Clair		, Revd Simon
ASKWITH, The Revd Joshua		23		24.96	0.28 25.			0.28 25		3.28 29.08			31.36	2.28 33.64 Elected
BISHOP, The Venerable Ian		47		34.58	34.		4.58	34.		34.58			34.58	34.58 Elected
BLUNT, Revd Chris		30		30.56	2.8 33.			35.		35.36			35.36	35.36 Elected
DREW, Revd Simon		13		13.56	3.08 16.		6.64	16.		1.28 17.92	3.4 21	.32	21.32	-21.32 -
ENTICOTT, Revd Ian		8		8.28	0.56 8.			10.	12	-10.12 -	-		-	-
JAMESON, The Reverend Beverley		8		8.84	8.		8.84	-8.84 -		-				-
JAQUISS, The Revd Clair		27		30.08	30.		1.36	2 33.	36	1 34.36	2 36	.36 -1.78	34.58	34.58 Elected
KEMBALL, Rev Sister Heather		5		5.84	0.28 6.					-	-			-
KENNAUGH, Rev Gary		13	0.56	13.56	3.08 16.		6.64	0.28 16.		3.28 20.2			22.76	13.52 36.28 Elected
MUNRO, Rev Dr Rob		47		47	-12.42 34.		4.58	34.		34.58			34.58	34.58 Elected
PROUDFOOT, Rev'd Jane Elizabeth	1	13	2.8		15		15.8	5 20		1 21.8		.64 1	24.64	24.64
SELBY, Revd Professor Peter		8		8.84	2.24 11.			0.28 12.		0.28 12.92				-
Non-transferable			0.1			1.2	0.2		1.2	1.2			2.82	5.52 8.34
Totals		242		242	2	42	242	2	42	242		242	242	242